
Subject: Re: Decomposing a bit field?
Posted by David Fanning on Wed, 21 Jul 2010 16:09:11 GMT
View Forum Message <> Reply to Message

Steve writes: 

>  The "B" suffix to a number tells IDL that it is to be interpreted in 
>  octal so indeed 17B is 8+4+2+1=15 in decimal

Well, not exactly. :-)

Octal numbers (octal numbers!?) are typically written
with a double quote in font of them:

   IDL> number = "17
   IDL> print, number 
        15

Cheers,

David

-- 
David Fanning, Ph.D.
Fanning Software Consulting, Inc.
Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=4003
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=30934&goto=71790#msg_71790
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=71790
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

